

**Scaffolding: Find Equation Given 2 Points**

**Assignment:** \_\_\_\_\_

\_\_\_\_. (○, △) (⬠, ⬡)

\*Find Slope:  $\frac{\text{⬡} - \text{△}}{\text{⬠} - \text{○}} = \square$

\*Substitute & solve for b.  
 $\text{△} = (\square \cdot \text{○}) + b$   
 $\text{△} = \underline{\hspace{2cm}} + b$   
 $\underline{\hspace{2cm}} = b$

**Equation:  $Y = \square X + \underline{\hspace{2cm}}$**

\_\_\_\_. (○, △) (⬠, ⬡)

\*Find Slope:  $\frac{\text{⬡} - \text{△}}{\text{⬠} - \text{○}} = \square$

\*Substitute & solve for b.  
 $\text{△} = (\square \cdot \text{○}) + b$   
 $\text{△} = \underline{\hspace{2cm}} + b$   
 $\underline{\hspace{2cm}} = b$

**Equation:  $Y = \square X + \underline{\hspace{2cm}}$**

\_\_\_\_. (○, △) (⬠, ⬡)

\*Find Slope:  $\frac{\text{⬡} - \text{△}}{\text{⬠} - \text{○}} = \square$

\*Substitute & solve for b.  
 $\text{△} = (\square \cdot \text{○}) + b$   
 $\text{△} = \underline{\hspace{2cm}} + b$   
 $\underline{\hspace{2cm}} = b$

**Equation:  $Y = \square X + \underline{\hspace{2cm}}$**

\_\_\_\_. (○, △) (⬠, ⬡)

\*Find Slope:  $\frac{\text{⬡} - \text{△}}{\text{⬠} - \text{○}} = \square$

\*Substitute & solve for b.  
 $\text{△} = (\square \cdot \text{○}) + b$   
 $\text{△} = \underline{\hspace{2cm}} + b$   
 $\underline{\hspace{2cm}} = b$

**Equation:  $Y = \square X + \underline{\hspace{2cm}}$**

\_\_\_\_. (○, △) (⬠, ⬡)

\*Find Slope:  $\frac{\text{⬡} - \text{△}}{\text{⬠} - \text{○}} = \square$

\*Substitute & solve for b.  
 $\text{△} = (\square \cdot \text{○}) + b$   
 $\text{△} = \underline{\hspace{2cm}} + b$   
 $\underline{\hspace{2cm}} = b$

**Equation:  $Y = \square X + \underline{\hspace{2cm}}$**

\_\_\_\_. (○, △) (⬠, ⬡)

\*Find Slope:  $\frac{\text{⬡} - \text{△}}{\text{⬠} - \text{○}} = \square$

\*Substitute & solve for b.  
 $\text{△} = (\square \cdot \text{○}) + b$   
 $\text{△} = \underline{\hspace{2cm}} + b$   
 $\underline{\hspace{2cm}} = b$

**Equation:  $Y = \square X + \underline{\hspace{2cm}}$**

**Scaffolding: Find Equation Given 2 Points**

**Assignment:** \_\_\_\_\_

\_\_\_\_. (○, △) (⬠, ⬡)

\*Find Slope:  $\frac{\text{⬡} - \text{△}}{\text{⬠} - \text{○}} = \square$

\*Substitute & solve for b.  
 $\text{△} = (\square \cdot \text{○}) + b$   
 $\text{△} = \underline{\hspace{2cm}} + b$   
 $\underline{\hspace{2cm}} = b$

**Equation:  $Y = \square X + \underline{\hspace{2cm}}$**

\_\_\_\_. (○, △) (⬠, ⬡)

\*Find Slope:  $\frac{\text{⬡} - \text{△}}{\text{⬠} - \text{○}} = \square$

\*Substitute & solve for b.  
 $\text{△} = (\square \cdot \text{○}) + b$   
 $\text{△} = \underline{\hspace{2cm}} + b$   
 $\underline{\hspace{2cm}} = b$

**Equation:  $Y = \square X + \underline{\hspace{2cm}}$**

\_\_\_\_. (○, △) (⬠, ⬡)

\*Find Slope:  $\frac{\text{⬡} - \text{△}}{\text{⬠} - \text{○}} = \square$

\*Substitute & solve for b.  
 $\text{△} = (\square \cdot \text{○}) + b$   
 $\text{△} = \underline{\hspace{2cm}} + b$   
 $\underline{\hspace{2cm}} = b$

**Equation:  $Y = \square X + \underline{\hspace{2cm}}$**

\_\_\_\_. (○, △) (⬠, ⬡)

\*Find Slope:  $\frac{\text{⬡} - \text{△}}{\text{⬠} - \text{○}} = \square$

\*Substitute & solve for b.  
 $\text{△} = (\square \cdot \text{○}) + b$   
 $\text{△} = \underline{\hspace{2cm}} + b$   
 $\underline{\hspace{2cm}} = b$

**Equation:  $Y = \square X + \underline{\hspace{2cm}}$**

\_\_\_\_. (○, △) (⬠, ⬡)

\*Find Slope:  $\frac{\text{⬡} - \text{△}}{\text{⬠} - \text{○}} = \square$

\*Substitute & solve for b.  
 $\text{△} = (\square \cdot \text{○}) + b$   
 $\text{△} = \underline{\hspace{2cm}} + b$   
 $\underline{\hspace{2cm}} = b$

**Equation:  $Y = \square X + \underline{\hspace{2cm}}$**

\_\_\_\_. (○, △) (⬠, ⬡)

\*Find Slope:  $\frac{\text{⬡} - \text{△}}{\text{⬠} - \text{○}} = \square$

\*Substitute & solve for b.  
 $\text{△} = (\square \cdot \text{○}) + b$   
 $\text{△} = \underline{\hspace{2cm}} + b$   
 $\underline{\hspace{2cm}} = b$

**Equation:  $Y = \square X + \underline{\hspace{2cm}}$**